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. The pH of acid rain water is -

(A) 1.2 " B)3.1 (€)5 : (D)6
12.  Which air pollutant is not released by scooters and cars ? s
A) SO, (B) Fly ash (C) Hydrocarbons (D)

- CFCl, is responsible for the decomposition of ozone to form oxygen. Which of the following reacts
with ozone to form oxygen ?

(A)Cl, (B)CI’ ©F i
14, Pick up the correct statement :
(A) CO which is major pollutant resulting from the combustion of fuels in automobiles plays a major
role in photochemical smog
(B) Classical Smog has an oxidizing character while the photochemical smog is reducing in character

(C) Photochemical SMOg occurs in day'ti me whereas the classical smog occurs in early morning hours
(D) During formation of smog the level of ozone in the a

_A3.  Air pollutants that produce photochemical sSmog -
(A) Ozone, chlorine and sulphur dioxide
~ (©) Nitrous oxide, PAN and acrolein
16 P.AN, stands for- '

(A) Peroxy acetyl nitrite : (B) Peroxy acetyl nitrate
(C) peroxy acetyl nitrile (D) Pyridine aceto-nitrite
The photochemical smog can be suppressed by :
(A) nitrogen oxides (B) hyglrocarbons

\_1,8/ The chief pollutants which are responsible for

tmosphere goes down

(B) Oxygen, chlorine and nitric acid
(D) CO,, CO and SO,

17

(C) radical traps (D) formaldehyde

ozone depletion :-
(A) SO, (B) CO, ,
(C) Co (D) Oxides of nitrogen and chlorofluorocarbons
<~ Taj mahal is threatened due to effect of :- :
(A) Chlorine (B) Sulphur dioxide (C) Oxygen (D) Hydrogen
20. Ozone hole refers to :-. £

//

(A) Increased concentration of ozone
(B) Reduction in the thickness of ozone layer in troposphere

(C) Reduction in the thickness of ozone layer in stratosphere
(D) Hole in ozone layer

}/ One of the pollutants that is generally helping in the carly degradation of the Ozone layer is :-

(A) SO, -(B) DDT (C) Co, (D) Freons
/22. In coming years, skin related disorders will become more common due g -
' (A) Airpollution ' (B) Excessive use of detergents

(C) Depletion of ozone layer (D) Water pollution
/ 23. Often in water bodies subjected to sewage pollution, fishes die because of the.-
\__~{(A)Foul smell
= (B) Reduction in dissolved oxygen caused by microbial activity
(C) Clogging of their gills by solid substances
(D) Pathogens released by the sewage







